Task 1c: Check your understanding

1. How many words does the Academic Word List contain?
570

2. Which words are contained in Sub-list 1?

The 60 most frequently used words.

3. Choose the correct ending for the sentence from the video:
You need to read, hear, speak and write a word:

c. in different contexts to really know it.

4. Nominalisation is changing a verb, adjective or adverb into a houn. After
changing the word, what else might we need to change?

Its position in the sentence and other words.

5. Can you remember how to change the following sentences?
Some possible answers:

a. The collection of the data took a long time/was time-consuming.

b. The applicability of the model has been improved.

c. The prevalence of the disease caused confusion among health experts/ was
confusing/could not be explained.



Task 4a: Check your understanding
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Task 5a: Check your understanding

Complete the table below which shows the word families for the some of the target words
from the article. An x indicates that there is no form or that the form is not common.

Verb Noun Adjective Adverb
conform conformity X X
contact contact contact X
X distinction 1.distinct 1. distinctively
2.distinctive 2. distinctly
1. dominance 1.dominant X
2. domination 2.dominating
X ethnicity ethnic ethnically
evaluate evaluation evaluative evaluatively
persist persistence persistent persistently
X rigidity rigid
rigidly
X significance significant
significantly
vary variation varied X




Task 5b: Check your understanding

Verb

Noun

Adjective

Adverb

-ate

-ity, -tion, -ance, -
ece

-ive, -ent, -ed, -ant, -
ing

'”y’ -Iy




Task 6a: Check your understanding

1. retain control

2. confer a high status____

3. armed conflict .

4. production process

5. unfavourable attitudes .

6. fully documented :

7. restricted range :

8. introduced the concept .



